[ Efficiency vs vertpos |

—_
+—

DQ
DQ
Efficiend —— B3

efticiency vs vert z

Ratio

0.5

0.8

1.2

1072 107 1

10 0?
TP vertr (cr%)

MKEIL_TT1originar
mkFit_TTNEWnoMS-genMatch-CUT2
mkFit_TToriginal-106

mkFit TTNEWMS-genMatch-CUT2

<4

0.8

0.6

0.4

0.2

[y

0.9

.QF

0.l

30 -20 -10 ‘0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N

0.1

>
2 0.09

£

50.08
20.07
o)
20.06,
@
(&}
£0.05
()

Ratio

0.04
0.03
0.02
0.0

104

.......................................

..................................

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


